W {*'j ,l_ @
#22 it = Iy
t+tl =
B A
+ =
1L 1 mmen £3— 1 B
£ | + pryye e T —ta__‘ B (‘t"\(t+,)
i/t + L >+ e R
C | t —
+
- S I wnftes
" s e ) ) e
5{*{25\ VQ\’\f S wA YN =) Cam\* eNev)— \/E\Sk o Y\&jé
== L O sl - \/b'b_k“ o= wﬁﬁﬁﬁ\k
9 e
f(z) = V/7Tz?—8z. ]
= A=
(— ®,09)
\J/ =)
Selve — B 2
2 - lver 1A 7 0 b/c T>D F)M
e 0%U~)~ /\) 1T — €Y 4 R
X (IX-8)= 0
X=0
%= %4

o (co, 50 VT ey



UV\MJ(‘_S

sorve H
W ) (%) = L ke (x) arbitrarily cl i
n ! = e S you can make f(x) arbitrarily close to L, by making x close to ¢
AX=>C
v
_.____ﬁ
#*, L
. Limits are kinda like asymptotes
Fft Whew  x —>cC
\;(
&=
y= ,Q/\A X
<
— oD | > + o9
)<s b E—

- “DJ:’W\-; Qj\/\b():—oo
U gxz » A—~>0

7 X—>» — 00 -gvov"\'H"-' V‘\QJ/‘{_




O X | % |55 pAappen Lfﬁb||L10! ol ‘er‘B
T de
L [o? /F"’D /a)omn /0000 | 10009 [pD 1
K — 74‘—1 ‘ 1
A5t (<) stolg | \Jm x ‘R;'_—%m
Goap T BFN (3a- 02
First Rule of Limits: ) THAT He Qm‘-{\
10, whon wov plag de Hhe ) gon gek ~ recl
T 5w raeh B Spped. M.
‘ 2,5134 39|34 '  01 |4, S| 5
Do L e X| BRI e [ 4| 47]
Ko (X=4) S| -1 ""‘ i ]‘3—@“‘:%@" 1 ‘ lo ‘ ¥ I .
when the left limit and right limit —_ e
Sv(;gz;?l::?iﬁ%it does not exit — 1l|/v1 I = —o> linn _,’_ + B
T XY () A
Ofle  tin-ts Qye  eafy
N R N i S B R N R O il
A 4T T X3
@=35(x-Y) B
, a e A4-3) + 13 o
Yo K= (el L

O




Plecomse Lo Ts

X
e

%b@) - 2

Ko+ <

A->0
( D
(D Lt eV
L9(2<40'
@ Righd + e
> %X>0

> O

><:

[ AN =

ADD

[l
%30

O

e

Y

[

1

L/

Emmikdr

e i cavihnumnl

fonchow |

%(0\—“5



	Untitled
	Untitled
	Untitled
	Untitled

